
Source-based rf power output 
 
Plots were taken of the transmitted rf with the TX key held in the on position.  The 
following duty cycle is source-based because it is set in the firmware that resides on the rf 
board. 
 
The width of one pulse is 733 microseconds 

 



 
There are 10 rf pulses in 100 msec. 

 
 
Duty Cycle correction = 10 log (Ton/100 msec.) 
Ton = 10 pulses x 733 usec. 
Ton = 7330 usec. 
Ton = 7.33 msec. 
 
10 log (7.33/100) = -11.3 dB 
Peak power(measured) = +17.1 dBm 
Source-based average power = +17.1 dBm – 11.30 dB 
Source-based average power = +5.8 dBm 
Source-based average power = +3.8 mW 
Antenna gain is 2 dBi so the source-based average eirp is 6 mW 
 
 


